Honors Algebra 2
Independent/Dependent Events
Warm-Up

1.

You are working with a deck of
front. 4 of the cards have a blug¢ square on the front. 2 of the cards have a green circle on the front. 5 of the

Name:

Date: Pd:

cards. The cards are blank on one side. 3 of the cards have a red star on the

cards have a purple triafgle on the front. 6 of the cards have an orange diamond on the front. 79

Determine the probability of

Suppose you put the card bac
card?
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What is the probability of pul
card? 3
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You are working on your hom

choosing a red star card. 3

zo

k and shuffled the cards. What is the probability you would pull a blue square

b

)
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ing a red star card, putting it back & shuffling, and then pulling a blue square

)

-

ework at home and your little sister is coloring near you. You pulled a green

circle card from the deck. Before you could put it back, your sister grabbed it and started coloring all over

the blank back side, making it

The above scenario is more o
deck. With that in mind, wha
card - without replacement?

unusable. What is the probability of pulling a purple triangle card now?

ften called without replacement, as you are not putting the card back into the
[ is the probability that you pull a green circle card and then a purple triangle
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Test Review

HW: Print and redo test revigw

X
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Review for Unit 5 Summative-Probability Name,
Honors Algebra 2 Date, Period
3

1. There are six pengies In a jar of 10 coins. Four coins are randomly selected. -g r
a} Determine the prpbability that all four colns are pennies If you replace each coln after seles:tion 3 g/

2 5 i 1 s b z r
b} Determine the prpbability that all four ¢oins are pennles {without replacement). T ?

( ’2 g }I oy
prey
2. A pollster surveys 1005t s consist[ng of 25 democrats {30 of which sre female) and 55
republicans (23 o‘iq_hh:h arefemale.] ) 0 J ,
a) Completd a two way to describe the data

F
M

b} Find thelfollowing {2 each): : /
i) The probability that the subjectis a female 3

ii} The probability of 2 democrat or a male {'-/f + % 2)// "

. B

i) The probability that the subject is 2 male fepublican 7% )30
i) The probability that a female is a democrat. 30 / -
s 11

3. I have one four skction spinner numbered 1,2,3,4 and one coin. | spin the spinner and flip the coin.
List the setlof all possible outcomes for this chance experiment.

) H 2w 3 H y M
y v 27T 37 97T

Determinefthe probabilitles of the following compound events
a. The spinper shows a 3 and the coin lands on talls. I

2

b. The nunber on the spinner is greater than 2:and the spinner does not land an tails.
2 ]

8 Y
¢. Are the évents “spin a spinner” and *flip a coin” Independent of each other?
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Test Review

HW: Print and redo test revigw

8, Researchers areifiterested inthe relationship between ;:ifgarétte.srmic‘ing and lung cancar. Suppose

and aduft make is rahdomly selected from a particular population. The foflowing table shows the:
probabflities of some events related to this chance process.
Event Probability
Smokes 25
Gets Cancer 38
Does not $moke and does not get Cancer 51
al Create a venn diagram for this situation:
B
b
s .
of |
b) Find the probability of smoking and getting cancer. 2 9 / *

¢) Find the probabitity of smoking or getting cancer.

d) H you are 2 smok

) Are the events ™3

A9
w27

5. The probability o

g LlT1e) »

39 /.

2

a8

br, find the probability of getking cancer.

06

moking” and 'Getting. Cancer” independent of each other? ,/ ?
rE)# p1€)1)

g oL? 38 F .9

¥ eating pizza (event P) far dinner is .2, Thie prohiability of not having Thin Mints for

dessert {event T} is . Ben is happy when we have pizza for dinner and Thin Mints for dessert.

a) Are the events P 3

b} What is the probs

6. HP[A) =0.24 and

¥+ .52 - (2Y%, 72

\nd T Independent? {Hint: [s.1¢ possible to calculate P{P]T))?
54

ibility of having pizza and Thin Mints?
L r)=

P(B} = 0.52 and A and B are independent, what is P(A or BJ?
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Test Review

HW: Print and redo test review

7. iIn a recent survey, 100 students were asked for their gender and their class, If gender and class are

independent, hpw many students would we expect to see Inthe cell labeled “x?
Male | Female
Freshman X 3a
Saophomore 25
Junior 24
Sernlor 21
40 60 100

8. Suppose your schoot Is in the midst of a flu epldemic. The probability that a randamly-selected
student has the fluis 0.35, and the probability thata student who has the flu also has a high fever is
0.90. But there ard othgF llinesses making the raunds, and the probability that a student who doesn’t
E3Ve the flu does hive a high feveris 0.12.

/ [ 4 )

{a} What is that a randomly selected student at this school has a high fever?

Fev |, 929 FnfFev = %)y
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{b} Suppose a student walks Into the nurse’s office with a h[ghie_ue_r_._ﬁ\hilfi {5 the probability that he or
she has the flu? ) .
C
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/_1'_,-——;;‘ o 2] f{c) At this school, bre having the fiu and having a high fever Independant? Justify.
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Honors Algebra Il
Probability Review

1) Consider the
flipped. Cons

A - the die sh
B -the coins

a) find P (A
b) Does P(A
c) find the pr

d) What is th
shows 57

e) Whatis th

thance experiment where a 6 sided die is rolled and a coin is

ider the events: L ¥ - - w Sx LA
)T 27 23,7 U 8 3T & T
ows a number 4
hows heads
g
U B) 2
N B) = P(A) - P(B)? Why or why not? Yes, 4, by ort mdl” mJ—'%?*
3 b

bbability the die shows an even number and the coin shows tails o

e probability for the event ‘the coin shows heads and the die
{

—

] &

e probability for the event ‘the die shows an odd number or the

coin is heads? ) 2
72 ]
2) One hundred|people were asked which of the two sports they preferred
(hockey or basketball). The results are shown in the two-way table below:
Hockey Basketball Total
Male 14 56 70
Female 6 24 30
Total 20 80 100

One person is select
a) P(B9 20

b) P(BNF)

2
7

b

¢c) P(HUM)
d)

Y
Are the prefe
about condit

e)

Yes,

Pln|m:

PCHEIF) 2 . , .
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ed at random. Determine the probability
/.
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rred sport and gender independent events? Use what you know
onal probabilities to justify your answer.
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3) The percentage of people who eat fruit (F) is 51%. The percentage of people
who eat fruit [F) but not vegetables (V) is 42%. The percentage of people
who don’t eat fruit e vegetables is 7%. Sketch a Venn Diagram using this
information: and gont

ent [
a) F 4
7
-
¢) Aperson |s selected at random. Determine the probability of the
following levents:
d) the person eats fruit 57 ).
Joes nef emt .
e) the persoh does not eat fruit or vegetables )00 — 9 - 9 L
0 x
o5 = 7, L .
f) PFIV)" {5, I /
g) PVIF) :| L = )2 b 8
)

h) P(FnV)|- g,

4) Keith is intergsted in the upcoming two games played by his son’s soccer
team. He declded the probability of him winning the first game is .7 and the
probability of him winning the second game is .5. What is the probability of
his son’s tearh winning both games? _

N0 RV 2 , 35 er 3f/.

5) A bag contains 6 green, 5 blue and 12 orange marbles. If three marbles are
picked without replacement, what is the probability that:

B 2
T 4 S M .
a) They are all threegreen — » — . — = ) /
zrb 2‘&. 24- ] 0' ‘ 2— ‘7 8r ‘ ]
3 =
b) The first is bljie, and the next two are orange
s | 12 .
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